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# Iinclude <fstream>

Ifstream YL IVEY PE U PES T
- ofstream BBl Hdes sl Slesl 8
fstream BBl yibgs 9 Oailes (sl 0 (S99
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# include <fstream>
main()

{

int adad,;

ofstream fout (“file.txt”);
cout<<“enter 10 number”’<<endl;
for (int i=1; i<=10; i++)
{

cin>>adad;

fout<< adad<<end|

}

fout.close();

getch()

}
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Int adad;

char ch;

ofstream fout(“file.txt”);

cout <<“enter a sentence:”’<<endl;
while (ch!=¢.”)

{

ch=getch();

cout<<ch;

fout<<ch;

}

fout.close:
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int adad, max;

ifstream fin(“file.txt”);
cout<<“number are:”<<endl;
for(int i=1; i<=10;i++)

{

fin>>adad;
cout<<adad<<endl;

if (I==1)

max=adad;

if (adad>max)
max=adad;

}

cout<<“max is:”’<<max;

getch();
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#include <fstream>
#include <iostream>
using namespace std;
int main()
{ ofstream phonefile("PHONE.TXT");
long number;
string name;
cout << "Enter a number for each name. (0 for quit): ";
for (;;)
{ cout <<"Number: ";
cin >> number;
if (number == 0) break;
phonefile << number <<';
cout << "Name: ";
cin >> name;
phonefile << name <<'';
cout << endl;
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int main()
{ ifstream phonefile("PHONE.TXT");

long number;
string name, searchname;
bool found=false;
cout << "Enter a name for findind it's phone number: ";
cin >> searchname;
cout << endl;
while (phonefile >> number)
{ phonefile >> name;

if (searchname == name)

{ cout << name <<''<<number << endl;

found = true;

}

if (Ifound)
cout << searchname << " is not in this phonebook." << endl;

}
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struct time

{
int hour : // 0 — 23

Int minute ; // 0 —-59
Int second; //

}i
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struct account {
Intacc_no ;
char acc_type;
char name[80] ;
float balance ;

}

b g0 guas ez sl account )Ll

INt g9 jl w2,y ACC_NO

char g jl Olu> g45 ACC_type

$AS S 80 @b £95 )l Ol ol Olasin name
float g4 jl >3l balance
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struct account {

Int acc_no;

char acc_type;

char name[80];
float balance;

} custl, cust2, cust3;

struct account {
int acc_no ;
char acc_type;
char name[80];
float balance;

I

account custl, cust2, cust3;
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account cust = {4236, 'r’, "Nader Naderi” , 7252.5};
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cust .acc_no = 4236
cust .acc_type ='r’

cust . name = "Nader Naderi”
cust . balance = 7252.5
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struct date {

int month;

int day;

int year;

};

struct account {
intacc_no ;
char acc_typer;
char name[80];

float balance ;
date lastpay ; };

account X, y ;

X.lastpay.month
X.lastpay.year
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struct student {
char name [31];
char familv[31]:
float avg:
|5

void main(void)
d
struct student 5. max;
imft i;
cin == s.name >> s.family == s.avg;
max=s;
for (i=1; i<l0; i+t+)
{
cin == s.name >> s.family == s.avg;
if (max.avg < s.avg)
max = 5;
H
cout =< “pame =" << marname <= endl
cout =< “family =" <= max.family << endl;
couf <<*avg =" =< max.avg-<<endl;
getch();
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struct sindent {
char name [31];
char family [31]:
float avg;
b

vold main (void)
d
int i3
struct student s[10], temp;
for(i=0; i=10; i++)

cin == s[i].name == s[i] family == s[il.ave;

for (i=1; i=10; i++)
for (j=0; j <10-i; j++)
if (s[jl.avg = s[j+1].avg)
d
temp =s[j];
sfjl ~ =s[j+1l;
s[j+1] = temp;
for (i=0; i=10; i++)
cout << s[i].name << sfi].family << s[i].avg << endl;
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